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Question 1

QIO 2oboMEHGds: 30693530308 JOMOMOE 53M(35065L FoMTmoygbL -

Select one:
a. bbgyarol 3gdsMgMdOL ASBLsBLZMs LogMEgdo MMl bgdoldog® dmdgbEdo
b. Ubgmeol go@ssaomgdol gsblsbgms Mmool 69doldog® dmdgbEdo
C. bbgwol 490550030900l dglfoges
d. bbgmeool dmdmsmdol Jgbfsgens
Question 2
F9005603H05 0719 I3M0:
#608030 3dM5mdoL LoRJsGOL oo MOOL Fsbdogrols otBmgdmels
©OH®O”".
Select one:
True

False

Question 3

99995053900 d6H9630m0 AMAMSMBOL OHML HgMEHow ol Fsbslosmgdgwo
Fo®omo Loowggdo (5: Vs @r) 3mmbey® LoEoE)IdL:

(N Answer 1| Choose... j
“r Answer 2| Choose... B
S Answer 3] Cose- -~
Question 4

AsLomS 5@OEH0MOMBOL 3063030l Mobsbdo, MHMIgeros LMo
396356 Fgdo:

Select one:

a. bbgmawms Lobi@gdol dsbs dgGos 3owzge bgmewoms dsligdols xsdbg

b. Ubgmems LobEgdol Bsbs Emeros dsbgdol xsdol

C. bbgmwms Loli@gdob dsbs GHmeos 3o39wer Bbgoems dsligdols xsdols
d. bbgmaoms LobEgdol dsbs Bagengdos 3ow3gme bbgumamms dsbigdol xsd%by

Question 5


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s%2Cv%2Ca_%5Ctau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a_%5Ctau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s
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530003600 LoOWY, HMIgoa HoMdmowygbl Lbgmwols 0bgdEomEo s
305303530090 M30L90900L BMAsl  sMOL:

Select one:
a. dod

b. 9sbs

C. bobdstg
d. §eabs

Question 6

Q3O gobdoMEHgds: bgdoldogmo m®o M1 s M2 dsbob bbgremols
396399m 5MOLYGdMOL 53O0 IMO 45693, LoIE M3l 0BgbL
d0B0MEMdOL doergdol dmddggds. 53 oG Moo 456M90ml ghmegds --

Select one:

a. 205303930990 3900

b. 9@adOObAGOZN®O Zgwo
C. 9wadOOIwo 3o

d. 3560¢wM0 39¢0

Question 7

F983560@05 v 330096M0:
#B3bMBOL sy 500d3M90s dgabgdo LbgmMqdol bsfowszgdol
MOD0YM004d9900L 9IRS @S Ym3gewm3ol d9dbgdo bBgsdo®mols
29Uf3M0355 80B5OMEO".
Select one:

True

False
Question 8

63905 Bodd 3Ol GOHNIMEO (SI) 9ONJMS BogMHMSTMOOLM
LobGHgdsdo?

Select one:
a. XMmIero
b. 8.50

C. 35¢0


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%28SI%29%7D
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Question 9
3539605 F9OEH0wms LoLEgdoL (39Js6039M0 LobEBHgdol) 9bgeaos sSGOL
LoLEgdoL (dmbBodbgm 2 3s5Lwbo):

Select one or more:

a. 9mdMsmdOL MoMmEgbmdMogo Bmds
b. a965f0wgdol gumbdsos

C. 3MdoMmgmdol Bmds

d. 8pamdsgmdol gwybdsos

Question 10
3g4oc0 LbgmEolb 4505396000 IMIMMdOL OML Lbgwwols ygzgws

Do @owob:

Select one:

a. 5B4o6gds Lbgoslibgss

b. LoBdstg s sBJs®gds bbgowalbgss
C. boBdoMyg Lbgsslibgss

d. boBdog s 5BJoMgds gOHMBI0G0S

Question 11
0vg M6 bbgossolibgs bLbgrmenbg 9mddgogdl 90003039 8sd6¥bgdgero
903960 M, 85806 39 379b® 5BJs@gdsl B90dgbl ol Lbgrmwo, Hmdwol -

Select one:

a. 0bgM ool dmdgb@o sl dg@o

b. 0bg®E00l 8mdgbEo Gl 63egdo
C. 95 5oL dg@o

d. LoBgdstg 5oL dgEo

Question 12


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BM%7D
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®b930000 FMIGMBOL ETobolosMIBIo LOWOEYJd0s (dmbodbgm 3
35bvbo):

Select one or more:

a. 5930

b. Lobdoty

C. 3sbs

d. 3960m@o

€. 003wbo

Question 13
3999603960 MHgHBM™BBLOL dmzEgboll GmMLs:

Select one:

a. Mby30L 533 oG s MBE0MYLOS

b. ®bgzol 533oEMs »©oEILos

C. ®bg30L 39MHOMPO YYOEILOS

d. ®bggol 533woBHM@s GH™Eos 6meols

Question 14
4m39w0 396H0m©no (Hbg30m0) 3GMmEgLOL 3930 E3ggdsl LogMEgdo
39633990 LoBdsmoom ghimegds:

Select one:

a. Gows

b. 8cdGomds

C. ®bg3s

d. 990550A09dS

Question 15
©3LOMEgm 29635 FHJOS: 0©IHIEXMMIO 5060 9)HMYds S0, BMIwol Jme93Wgdo
3obobogds, Mmam®mE 603mogho Fgd@owgdo, GMmIgems dmMob MO0 Mm]dggds

Select one:

a. 05Jb005IMH0S, IR BJOIOL IMIgHEHOL YoM

b. Mamgdgmygmzomos, ©sxsbgdol dmdgbEHol 3sMmEs
C. 35gb0ds5eYMH0S



d. 80603s¢r®00s
Question 16
3988560305 0v) 33M0: 8mE93m©-30693H031M0 MgMMooL §M0-
9OM0 GO0l MsbsHAs yz9ws bLbgmero d9agds dowrosb oo
51 96mdOL MI3009b0 65Fos3gBOLIYE™ .
Select one:

True

False

Question 17
(oEbz00 3603369cmdgdL Jgliodsdgo LoEY309M0 ILEHYWYdIdO:

Answer 6| cose

—a
10 83(’_‘)5)0 Answer 7| Choose...

Question 18
39L5053900 IMEHOMMEO IMIOIMOOL EHTIHILOSMYOJ BODO3IME

LOOYIOL BHMS9IBHMMO0L M99 FoMEowdo 30dsOHMIgd9d0:
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bOijﬁ)g Answer 1| Choose... j
29ISYOWIDS Answer 2| Choose... |
963063000 3005 £ (c\ver 3| Choose... -]
Bor®iBoeor)o sBdotgds AL cwar 4| Choose... |

Question 19
390 BMOINoOds Fomdmoygbl bomEmbols 30639 356mbL
(8cb0dbgom 2 3sbybo):

Select one or more:

—

a. m‘gF = U, 35306 @ = ()
b. oang = (), 35806 ¢ 70


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-1%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-9%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-12%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-6%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-3%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%5Cne0

o F =0, 85006 V = const
d. or);'jF % U, 35306 @ = ()

Question 20
9™ 3990 BMOHIMEGd0I6, HMIgEo gsdmliobsgl dbmxperom

3090 mdol 356mbl (G 5610l 3M330¢530vo 3035, M - ©gsdofols
Aslss) :

Selgft on(i:Mm
a.- ~— " R
b £ = G%
o F= Gi_;
0. F =Gl
Question 21

F 35¢0l B0ge 5 35050 9Rd5Bg FguO¥EgdrIo Jmdsmds 35IM0mZEGds
RMOHINWO .

Select one:

C . A=Fy

“ b A=F-dv
A= %

4 dA = (F-d3)

Question 22
3539605 M0 HgM ool 0d3bol dmdgbE oL
399mMBmM3wge BMMHIMESdo L= [?1 . h} ; 0997915053900 BoHBOZME

LOOYIOL IBObg9dgdO:

K pnswer 1] creese- E
L Answer 2| Coose- =~
7 Answer 3] Choose- -]
Question 23

dg4ocm0 bbgmEol 4505396000 IMIM>MBOL JOMOMSO FobEHMEgds Lbgremols
AsLoms (€) 39bGH®0oL 80O M 3gdmEos odmbsbmegdgdom (Imbodbgo 2
35Lbo)

Select one or more:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BV%7D%3Dconst
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%5Cne0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=G
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG%5Cfrac%7BMm%7D%7BR%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG%5Cfrac%7BM%7D%7BR%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG%5Cfrac%7BR%5E2%7D%7BM%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG%5Cfrac%7BR%5E2%7D%7BmM%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bs%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BA%7D%3D%7BF%7D%5Cvec%7Bv%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%7BF%7D%5Ccdot%7Bdv%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%5Cfrac%7BF%7D%7Bs%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA%3D%28%5Cvec%7BF%7D%5Ccdot%20d%5Cvec%7Bs%7D%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20L%3D%5Cleft%20%5B%5Cvec%20r%5Ccdot%5Cvec%20K%5Cright%20%5D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20K
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20L
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20r
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=c
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a. F= muve
b. F = m%
C. F= m:f:ii
d. F =t

o F = mai,
Question 24
®bgz0L 3gGomo T Emos:
Select one:

a. T = 2mwy
b. I’ =%
T =5
L= o
Question 25

3MbLYO35¢Mo LolGgdolmzol dgdsbozmMo MHgHBMbIBLOL dmgzEgbsls
SP00 593L, BMES 2569 396H0MEME0 doerol Lobdody:

Select one:

a. 360d3bgam3zbo 653agd0s LobEBgdol LszMmstmo Mbg3zol Lobdotmgby

b. Bsgangd0s Loliggdob Lsgroms®o Gbggols bobdotgby

C. 9BEEgds boliggdol bszmmsto Gbggol Lobdomql

d. 8905 LobEBol basgmmsto Gbggol LobBotgby

Question 26
MO0 GOWOS 5Ol 3m39M96¢ o, mv) (8mbodbgm 2 3sbvybo)

Select one or more:

a. BHoEgoo 56 5MHOL dmbmdHmIsE o

b. #5@©gdol GsBoms Lbgomds o6 sMOL ©sdM30EIINWo EMMBY
C. $How9gdol Bobosms bgomds sdmMm30YdE0s OHMDBY

d. B»owgdo Imbemd®mdsdyeos s Lobdo®ggdo Gmeo

€. BHoEgdol LobdoMyg 56 oMol EMero

Question 27
6030009M9d0L dsbs SGOL 171, BmerwGo Asby - M, 53masOH™L Gogbgzo - Na,
603009050580 89053500 5EH™IGBOL (393w gdol) HoEbgo GHMEos:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3D%20m%5Cvec%20v_c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3Dm%5Cfrac%7Bd%5Cvec%20r_c%7D%7Bdt%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3Dm%5Cfrac%7Bd%5E2%5Cvec%20r_c%7D%7Bdt%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3D%20%5Cvec%20v_c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3Dm%5Cvec%20a_c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D2%5Cpi%5Comega_0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D%5Cfrac%7B%5Comega_0%7D2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D%5Cfrac%7B%5Comega_0%7D%7B2%5Cpi%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D%5Cfrac%7B2%5Cpi%7D%7B%5Comega_0%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N_A
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Select one:
a. N=mMN,
o, N=32M

C. N=%NA
d. N=mNa

Question 28
AM93)MS §99EH0B0mM0 MAMSMOOL Lydrswm 30693 0379M0 9bgeyos
B0os (k 560l demmEdsbol 3790d03s):

Select one:
a. EZ.E:T
b W=3kT
C. H,’:%

L W=LkT

Question 29

03390 (69f00Bg 056506Mo dmdemosgo Lbgmwols 396¢MoL396wwo
58456905, ) 030 IMAMGMdL V=49/{d LobJs®om, R=2003. HGoombol
FO9homBg. ( 39ew8o BsfigMgom dbmermo Gogbgo. doy:1.2 ).

Answer:|

Question 30
ol Mol Lbgmebg 8cmddgo «dMomdol bobmbol dows, 09 dobo sbso

M=74233-U, bsbbol 3mggzogogb@o #£=0.1, g=109/{d2. (3980 BsfgBgm
dbmem Mogbgo 395890l LoBMLEHm, 859:1.23 )

Answer:|

Question 31

03mzgm  M=93a. dsbob Lbgmol 3069303100 9bgMAO00L (330Egds,
o<y dobo LoBdstg 10 3/(0-sb 258/§8-000g 450BsMs. ( 39edo Bsfocgm
dbmemo Mogbgo, dsy: 1.23 ).

Answer:|

Question 32

03m39m 3509353032900 JobJotsl Log™dg, mvy dolbo MbgzolL dgMomeos 1.7
$0. 0> g =10 /%92 ( 39do Bsfgcgm Fbmermo Gogbgo 1.234 .
89500Lgol LoBMLEHO ).


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BN%7D%7B%3D%7D%7BmM%7BN_A%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BN%7D%7B%3D%7D%7B%5Cfrac%20%7BN_A%7D%7Bm%7D%7D%7BM%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BN%7D%7B%3D%7D%7B%5Cfrac%20%7Bm%7D%7BM%7D%7D%7BN_A%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BN%7D%7B%3D%7D%7B%5Cfrac%20%7BM%7D%7Bm%7D%7D%7BN_A%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=k
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Coverline%7BW%7D%7B%3D%7D%7BkT%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Coverline%7BW%7D%7B%3D%7D%7B%5Cfrac%7B3%7D%7B2%7D%7D%7BkT%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Coverline%7BW%7D%7B%3D%7D%5Cfrac%7Bk%7D%7BT%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Coverline%7BW%7D%7B%3D%7D%7B%5Cfrac%7B1%7D%7B4%7D%7D%7BkT%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Cmu%7D

Answer:l

Question 33

033900 9OMSGHMB0560 0EISMMHO 50M0L $H9339Mod®s (39e3069d80),
09 Jobo 9RO FMIMHMBOL LyFSEM 3069EH03MM0 9bgemYo0lL
Loogs 459K, Looig K s®ol dmen3dsbol 399dogs (39endo Bsfigdgom
dbmwmo Mogbgo, dsy. 1.23):

Answer:l



